Multiply by 0,1 (H)

Find each product.

74 x 0,1 = 2x%x0,1=
50x0,1= 86 X 0,1 =
48 x 0,1 = 87 x0,1=
54 X 0,1 = 24 x0,1=
72%x0,1= 94 x 0,1 =
20x0,1= 42 x 0,1 =
3x01= 76 X 0,1 =
47 x 0,1 = 49 x 0,1 =
86 x0,1= 17 x0,1 =
93 x0,1= 94 x 0,1 =
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Multiply by 0,1 (H) Answers

74x01=7,4

50x0,1=5

48 x 0,1 =4,8

54x0,1=5,4

72x01=7,2

20x0,1=2

3x01=0,3

47 x 0,1 =4,7

86 x0,1=8,6

93x0,1=9,3

Find each product.

2x0,1=0,2

86 x0,1=8,6

87 x0,1=8,7

24x0,1=24

94x0,1=9,4

42 x0,1=4,2

76 x0,1=7,6

49x0,1=49

17x0,1=1,7

94 x0,1=9,4
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